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Part 1 (30-marks): ' :
For each queshon from 1to. 15 fpur optmns -are-given. One: oﬂhem iss the correct

answer. Make your choice (1, 2, 3 or 4). Shade the.cortect oval (1, 2, 3or 4) on the
Optical Answer Sheet.

1 Ali wanted to keép freshwater fishes in an aquarium in his house. Which of the
following characteristics are important for the fishes to survive?

A Amount of dissolved oxygen |
B Temperatureof water "~

C Type of:soil

D Amount of food

(1) AandBonly . . - A2) C.and.D:only .
(3) A,B and D only (4) A, B, Cand D

2 Dawd counted the number of populatlons in a leaf litter habitat. He found the
following: ¥

2 populahons of mushl‘é‘t‘i‘i‘n
1 population of termites .
1 population of woodlice'
1 populatlon of centipedes-

How many community/ies is/are there in the leaf litter habitat?

(1) 1 N
3) 3 T 14). 5.
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Organism X can be found:tmdergrounid in a garden habitat. Nicholas wanted to
find out if type. of soil will affect tie-survival of organism X He'$étip'an
experiment as shownbelow:” ~- . ° a7 ' .

Dark Roo_m

) / C}Qanismx
Tank i -

-Moist Sandy- |

S e

Which one of the following set-up should he use as a controf set:up?

1) Bright Room

\/\,_\,v/ Organism X

Tank

Soil

(2) ' ' Dark Room

|~ Organism X

Dry Garden
——  Soil

Tank —

(3) Bright Room

N\ —~_—~__—_— Organism X

M - Moist

Sandy soil

Tank

() Dark Roém

| Organism X

Tank .

Moist
Garden Soil
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Haslinda visited the Science garden and observed different kinds of plants and

~ animals in the pond habltat She’ recorded the. number of these .organisms in
" the tablé'befow.

Organisms Number of Organisms | °
Water lily ' 6
Tadpole 22
Cattail - 4
Guppy. 7
Damsélfly nymph - 10
Damselfly 3
.. Frog 5
~ Water besetle 11

Based on the information above, which of the following statements is/are true?

A Frogs reproduce more than damseilflies.

B There are six populations in the pond habitat.

C There are two producers and six consumers

D Ali the above organisms can form a single food chain. .

(1) A only
(3) B and C only

(2) A and B only:
(4) A, C and __D"only
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§  Animai M lives inthe marigfove swamp, The graphs below showthe
relationship between the behavioural pattern of Animal M and the. temperature
changes of the mangrove swamp in a day. I |

Temperatqre.’;(?(_;)_:: A

3
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Activity level t _

> Time

00 00h (06 OCh 12 00h 23 5%h

What conclusion can you make about Animal M based on the graphs?

A ltislikely to see well in darkness.
B it hunts and is mostly active at night.
C Itis more active as the temperature increases.

(1) Aonly (2) A and B only
(3) BandConly (4) A BandC
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6  The graph below shows what happens to'the: populations ‘of 6rganisms; W, X

and Y when the population of organism Z decreases.

Number of 4
organisms | - -

Ve, ce—
L —
e—

-c"""-.
-c"’"“"‘
-----
.....
v

4

" Time -

Based on the graph below, which of the following is the.likely food chain of
organisms, W, X, Y and Z? S

(MHW22X2Y>Z
(2 Xo>W2Y>2
B)YZ>2Y2X2>2W
4) YOWDIZ>X

7  Study the following food web.

What can you deduce from theigiveh food web? -

A S is a herbivore.

B Qs dependent on P for food

C T eats plants and animals.

D U is indirectly dependent on P for food.

(1) B only (2) A and C only
(3) B and D only (4) B, C and D only
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Which of the birds shown:below is most likely to have webbed feet?. -

€)) 2)
3 4)
Study the graph below.
Numbetof $ | o
seeds - A
dispersed

WncTSpeed

Based on the graph above which of the followmg is Jlkely to be the dispersal
adaptations of F rmt A? o

(1) | Dult coloured, fluffy and light.

) [Brightly coloured, small with hooks.

(3) | Dull-coloured; hard with pod-like:structure

(4) | Brightly coloured, fibrous covering with air spaces. . .
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10 Organism X is a carnivare and lives on Momo island. Momo island -is-

1

surrounded by ice and the temperatur.e rangesfmm 5°C.in the day: t0:-20°C at

~ "night. Most animals sleep underground atmght as.itis too cqld Small bushes

and plants grow in Momo island and many small animals feed on these plants.

Which of the following adapﬂatnons would beshdescribe Organism X?

Structural ' .' T Bebawoura!
(1) | Broad and- Padded feet | Hunts only at night
Has sharpclaws N
White skin covered with spikes
(2) | Hoofed feet. i . | Hunts.inthe day - .
| Has #/long spxky fongue . e
‘Black skin covered with thick fur
(3) | Broad arid Padded feet” -Hunts in the day
Has sharp claws: '
| Black skin covered with thick fur L
(4) | Hoofed feet . Hunts only at night
Has sharp claws . ' - '
White skin covered with spikes
An oil spili from a tankér covered a large area of water near.the seashore.
Which of the following statements is/are true about why.some. seablrds were
badly affected by the oil spill? LT
A The fish in the sea were kiiled.
B Their feathers were soaked with oil. '.
C Sunlight cannot pass through the water. :
D The amount of bacteria; lncreased inthe sea.
(1) Bonly (2) Conly

(3)AandBonly (4) A, B and D only
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12 TheP8{ (Pollutant Standard Index) values ‘shiow the quality of me air ina

paruculat IGeation: The indication of the air quahty wnth the assoclated range of
PSi vaIUes are shown in the tabte below. _"' :

Air Quality

PSI Value _
w50 | Goed”
5110 100 Moderate
- 101°to 200 Unhealthy. | =
-201'to 300 Vetry unhealthy |
Above 300 Dangerous

The PSl in country X was affected by a forest fire from a nelghbounng country.
The PSli was taken over five days and the vaIUes were Shown below.

PSlv‘aIue R
A8 '
R B R |
3%
8g:: = |
138" '

IR}
. _ £

Which of the following ‘could have caused a change in the air-quality in country X
over five days?"

A “Wind speed-

B Direction of wind

C Amount of heat

D Amount of carbon dioxide

(2)" B-and'D only -
 (4) ‘Cand’D only

(1) A and B only
(3) Aand C only
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The diagram below shows a classification chart.

s it'a'l_conduc.to‘r Yes [ o | Yes .. ...
Start ——> "¢ electricity? ——% Nickel
Nol .'N.ol
. Plastic ~ Aluminium

Which one .of".following(s) could be the missing question(s) in the box?

A lsit a metal?
B Is it a non-magnetic.material?
C Can it be attracted by a magnet?

(1) A only o T (2yBonly
(3) C only (4) B and C only

Four different objects were contained:in:four: glass. tubes with:some water.
John wanted to remove the objects using a maanet. Which one of the obiects
would be successfully removed?

o e
C—b-water T L Water
—lron D——-Eraser
Magnet—F T - Nail- - -Magnet{_
3) “4
—— Water | Water

— Silver Q—~ Copper
Magne‘t{ 6 Ring Magnet [ Coin
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Four magnets of différent lengths were hurg from a pole over a tray of iron
pins. The distance between the magnets and the iron pins was kept the same.

Xiao Qi wanted to find out if the lengths of the magnets would affect its
.magnetism.

She observed the number-of pins attracted by each magnet and recorded the
results as shown bélow.

Magnat A | Magnet B Mﬂ\etc Magnet D
‘Number-of pins'attracted'| 30" " '|° 30 ' - 16

What can Xiao Qi conclude based on the results?

(1) The longest magnet attracted the most pins.
(2) Shorter magnets are stronger than longer bnes.
(3) Longer magnets are stronger than shorter ones.

(4) The strength of a magnet does not depend on its length.

. /End of Bookiét A

10
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. Part }1.(20 marks) . ..

" For questions 16 to 23 write your answers in this booklet The number of marks
available is shown in brackets [ ] at the end of éach questton or part question.

16 -

(a)

(b)

. Sanjay coriducfed an experiment on ap earthworm in a bnght room as shown

below. He' placed the earthworm on side P of a box. He‘then shone a torch
light on it for five minutes. After a whlje5 the earfhworm moved towards Q of
the box.

Torch light

Cardboard. TN

Box-
Earthworm
Moist paper

'Based on his observations, state one chéfébtgérﬁéﬁé of the eértti@br}h’s habitat.

(1]

.. If he moved the. catdboard to side P, describe what he would observe after five

minufes. A [1]

11
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(a)

(b)

“animal, X, Y or Z would leastdilrlytodcreasesin-number? Explain your

Rosyth Schaoll Continuous Assessment 2/ Standard Science! P5{ 2011

The diagram below shows'tfiree-differsnt types of animals. They are X, Y and
Z. The animals live iva‘desert. S R

A predator of animals X, Y and Z is introduced into the gardea. Which type of

‘choice. ¢

(2]

Would Animal X be ‘able to survive in the snowy mouritains? Explain your
answer. ' (1]

4
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18 - Chee Fung wanted to conduct an:experiment to find out if w »
live in bright or dark areas. He had the following materials: for. the expenment

o An open box
« A piece of black cloth
~» Soil
o 20 woodlice
».Decaying leaves
o A beaker of water

(a) Identify the variable that '\n'/é"sﬂ-ghanged and the variable that was measured. [2]

| Changed variable: _

Measured-variable:

(b) Do you think Chee Fung should spread the decaying leaves evéhly in the box?
Explain your choice. .. ) [1]

~ 4%
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18" The graph below shows the change in the p0pulat(on size of two ammals X
and Yin a hab!tat overa period of time, © " -

“Animal X
‘Animal Y

Time (Years)

(a) What s the relationship between animals X and Y? Support your answer.

A\ {

(1]

by If 3 fatal disease wiped out the total poputation of X, what can Animal Y do in

order to survive?

(1

14
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.20 The pipture§ below show an .a;iplg and some love grass.

- ‘Hooks
Seed

Apple . . Love grass

(a) Name the seed dispersal method of the two fruits. : [1]

(b) State one feature of the seeds. of each fruit that helps them in their dispersal.
. 1]

Apple:

Love Grass:

21 The dnagram shows a p!ant it has waxy leaves and a deep’ and widespread
root systemrto help it survive in tts habltat

(a) Name the natural habitat where the ple;}\t is likely to be found. 1

(b)- Explain how the characteristics of the plant help it to adapt in its habitat. [2]

Root system:

Waxy leaves:

15
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22 Asmall amount 6f water from 3 rivers, E, F and G was collécted and tested for
Chemical Z. Chemical Z is poisonous. and harmful to living things. The results
- for thedtest-was:shawn 'inthésgraph below. :

AR 1

RiverE RiverF  River G River

(@) Based on the results abdve, identify-the correct graphs for the populations of
~ the organismis’living in the respective rivers by writing the teéttérs, E, F and G

in the boxes provided. Label the Y-axis of the graph clearly. (2]
(a) L
.
Time. -

-(b)  Whatis the retationship of the amount of Chemical Z and the populations of
organisms over time? ' S [1]

16
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23 The diagram below shows a toy. There are magnets inside the toy and the
ball. The ball appears.to be ‘floating’ in the air.

‘Floating *
Ball

Magnet

"
)
]
[}
1
1
'
v
’

[

o os o b g & oot

——Toy

(a) 5. .......

(a) Label the poles of the magnet in the toy above so that the ball is able to
float’ in the air. [11

‘Floating *
Ball

Material
X

5 ‘T —Toy

(b) . When material X was placed between the floating ball and the toy, the
ball drops to the ground. Explain why this happens. {1]

End of:Paper

17
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16)a)Earthworm’s live in a dark habitat.
b)He would observe that the earthworms have move towards P of the box.

17)a)lt has stripes and spots on its body which is similar to the plants. This allow it
to camouflage with its surrounding.

b)No. The animal does not have thick fur for it survive in the extreme cold
weather of a snowy mountain.

18)a)Presence of light.
Number of woodlice in each area.
b)Yes. The decaying leaves are food for the woodlice and should be spread evenly,
so it will not affect the number of woodlice in each area.

19)a)Xis a prey (Y and feeds on X). When the population of X increases, the
population of Y also increases, the population Y also increases and as the population
X decreases.

b)Animal Y can migrate to a different place.

20)a)They are dispersed by animals. Animal dispersal.
b)Apple: hard/small/cannot be digested.
Love Grass: it has hooks.

21)a)Desert habitat.
b)Root system: To get as much water as possible for the plant.
Waxy leaves: It reduce water loss.

22)a)Number of organism
River G River E River F
b)When the amount of Chemlcal Z has decreased, the populations of orgamsm
over time will increase.

23)a)S, N '
b)Material X is a magnetic object. Thus, magnetic cannot pass through material
XZ and repel the ball as it is now attracting material X.



